MADE IN ITALY

MOBILE BASSO - SELENE- LOW CABINET



S E I_ E N E Hagit Pincovici

169 x 46 h 98
Mobile basso/ Low cabinet

98¢m
38%°

46cm
18"

169am

66"

60cm
23%"

169am

66"

46¢m
18"



COMPONENTI

n°® 02 - Half Moon Marble
n°® 03 - Viti M6 x 16 mm ottonate per I'anta

n°® 03 - Viti 6 Ma x 19 mm ottonate per la struttura

COMPONENTS

n° 02 - Half Moon Marble
n° 03 - Screws M6 X 16 mm brass finish for the door.

n° 03 - screw 6Ma x 16 mm brass finish fot the structure.

istruzioni di montaggio Mobile Basso | Low Cabinet assembly instructions




Apri I'anta con marmo e svita le viti ottonate M5 x 16mm e conservale.
(Picture 1) Rimuovi ora il marmo della struttura svitandolo dall'interno e
conserva le viti.(Picture 1a)

Open the door with the marble and unscrew the brass screws and save
them. Now remove the marble of the structure unscrewing the screw from
(nside, save them. (Picture 1)

Prendi il marmo sostitutivo dell'anta e fissalo usando le viti che hai
coservato (Figura 2). Fissa ora il marmo della struttura usando le viti che
hai conservato (Figura 2a).

Take the replacement marble and fix it to the door using the screw you
saved before (Picture 2). Fix now the marble on the structure using the
screws you saved before. (Picture 2a)

Montaggio Completato. (Figura 3)
Assembly Completed. (Pcture 3)

4 istruzioni di montaggio Mobile Basso | table assembly instructions




Figura 1 - Picture 1
Vista 3D / 3D View

Apri I'anta con il marmo e svitalo.
Open the door with the marble and unscrew it.

‘%‘ Viti M6 x 16 mm
Screws M6 x 1T6emm

AU - Marmo
— ] Svita
— ] Unscrew Marble
— —
— —
— —
— —
— —
Apri l'anta
< Open the door
Figura 1a - Picture Ta
Vista 3D / 3D View
Rimuovi il marmo sulla struttura svitanto le viti dall'interno
Remove the marble unscrew the screw from inside.
Viti M6 x 19 mm Dettaglio
Screws M6 x 19mm Detail

Legno struttura
Structure in wood

Svita
Unscrew

Viti M6 x 19 mm
Screws M6 x 19mm W_ ''''' Bl

iy

|

Pannello Marmo
Marble Panel

Open the door

istruzioni di montaggio Mobile Basso | Low Cabinet assembly instructions 5




Figura 2 - Picture 2

Vista 3D / 3D View

Prendi marmo sostitutivo e inseriscilo nell'antina, fissalo con le viti.
Take the marble replacement and insert it in the door, fix it with the screws.

‘g Viti M6 x 16 mm
Screws M6 x 1T6mm

Figura 2a - Picture 2a
Vista 3D / 3D View

— ]

/

/
/
!

\

\
N\

Apri I'anta
Open the door

— L

//Q;
-
A' i
vvita -
S(l‘rew
(=,
N

Marmo sostitutivo
Marble replacement

Prendi marmo sostitutivo e inseriscilo nella struttura, fissalo con le viti.
Take the marble replacement and insert it in the structure, fix it with the screws.

i

Viti M6 x 19 mm
Screws M6 x 19mm

G
N

i
i

1100000

[

N

Marmo sostitutivo
Marble replacement

—— |

istruzioni di montaggio Mobile Basso | table assembly instructions




Figura 3 - Picture 3

Prospetto Frontale / Frontal View

istruzioni di montaggio Mobile Basso | Low Cabinet assembly instructions




Via Costone 8 - 22040 Lurago d'Erba (CO) | T.031 35999 F. 031 3599999 www.baxter.it



	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello


